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Να παραγοντοποιηθούν: 

 

 

• α) 25(α+β)2 –16(χ+ψ)2=  

 

• β)    χ4 – ψ4 = 

 

• γ)  χ8 – ψ8 =  

 

• δ) (χ+ψ)(1-2λ)2 – (χ+ψ)α2 = 
 

 



 

 

α) 25(α+β)2 –16(χ+ψ)2=  
Λύση: 

  
 

  

 

25(α+β)2 –16(χ+ψ)2= 

 

[5(α+β)] 2 _ [4(χ+ψ)] 2 = 

 

[5(α+β) + 4(χ+ψ)] ∙ [5(α+β) _ 4(χ+ψ)] =  

 

(5α +5β +4χ+4ψ)∙ (5α +5β -4χ-4ψ) 
 

 



β) χ4 – ψ4 = 

Λύση: 

χ4 – ψ4 = 

 (𝑥2)2 − (𝜓2)2 = 

 𝑥2 + 𝜓2 ∙  𝑥2  − 𝜓2 =    

                                 𝑥2 + 𝜓2  ∙  𝜒 + 𝜓 ∙ (χ − ψ) 
 



γ) χ8 – ψ8 = 
Λύση: 
 

χ8 – ψ8 = 

 (𝑥4)2 − (𝜓4)2 = 

 𝑥4 + 𝜓4 ∙  𝑥4  − 𝜓4 =  

 𝑥4 + 𝜓4 ∙ [ 𝑥2 2  − 𝜓2 2]  =  

 𝑥4 + 𝜓4 ∙ (𝑥2 + 𝜓2) ∙  (𝑥2 − 𝜓2)=  

 𝑥4 + 𝜓4 ∙ (𝑥2 + 𝜓2) ∙  (𝜒 + 𝜓) ∙ (𝜒 − 𝜓)  
 



δ) (χ+ψ)(1-2λ)2 – (χ+ψ)α2 = 
Λύση: 

(χ+ψ)(1-2λ)2 – (χ+ψ)α2 =  

 

(X+Ψ)∙ [(1 − 2𝜆)2−𝛼2] = 

 

(χ+ψ)∙ 1 − 2𝜆 + 𝛼 ∙ (1 − 2𝜆 − 𝛼) 
 



ε) (χ+2)(χ – 1)2 – 9(χ+2)= 
Λύση: 

(χ+2)(χ – 1)2 – 9(χ+2)= 

 

(χ+2)[(χ – 1)2 – 9]= 

 

(χ+2)[(χ – 1)2 – 32]= 

 

(χ+2)(χ – 1+3)(χ-1-3)= 

 

(χ+2)(χ+2)(χ-4) 
 

 


